
https://www.pass2lead.com/5v0-22-21.html
2024 Latest pass2lead 5V0-22.21 PDF and VCE dumps Download

 

 

 

5V0-22.21Q&As

VMware vSAN 6.7 Specialist

Pass VMware 5V0-22.21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/5v0-22-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

Latest 5V0-22.21 Dumps | 5V0-22.21 PDF Dumps | 5V0-22.21 Exam Questions                                1 / 4

https://www.pass2lead.com/5v0-22-21.html
https://www.pass2lead.com/5v0-22-21.html
https://www.pass2lead.com/5v0-22-21.html


https://www.pass2lead.com/5v0-22-21.html
2024 Latest pass2lead 5V0-22.21 PDF and VCE dumps Download

QUESTION 1

The Resyncing Objects view in the vCenter UI reports that some objects are currently resyncing. Which two actions
would cause this situation? (Choose two.) 

A. DRS is relocating VMs between vSAN nodes. 

B. HA Virtual Machine Monitoring forced a VM to reboot. 

C. A host failure occurs in the cluster. 

D. A change to the storage policy is applied to the objects. 

E. A VM snapshot is being deleted. 

Correct Answer: CD 

 

QUESTION 2

A 5-node vSAN cluster contains multiple virtual machines, and a vSAN storage policy with the rule "Failures to tolerate"
set to "1 failure - RAID-5 (Erasure Coding)" is assigned. A vSAN administrator has changed the rile in the assigned
policy to "2 failures - RAID-6 (Erasure Coding)". 

What is the result of this change? 

A. Changes are queued for 60 minutes. 

B. The policy change is rejected immediately. 

C. The updated policy is serially applied to the virtual machines. 

D. No changes occur until the policy is reapplied. 

Correct Answer: A 

 

QUESTION 3

Skyline Health vSAN HCL DB up-to-date health check is alerting in red in a newly deployed vCenter Server. 

Which two options are the possible solutions for this problem? (Choose two.) 

A. Obtain the HCL DB offline bundle from vmware.com, and manually update it. 

B. Upgrade to the latest version of vCenter. 

C. Upgrade the HCL DB from the hardware vendor website. 

D. Obtain the HCL DB from the hardware vendor, and manually update it. 

E. Update the HCL DB online from vmware.com. 
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Correct Answer: AB 

 

QUESTION 4

A vSAN administrator was examining the status of Virtual Objects and found inaccessible objects that are occupying
significant storage capacity. 

Refer to the exhibit: Which action is needed to restore the storage capacity? 

A. Evacuate data on affected node by using the Full Data Migration mode. 

B. Identify and remove the obsolete object. 

C. Restart the host, and obsolete objects will be removed on their own. 

D. Trigger a manual resync, and allow vSAN to heal the object. 

Correct Answer: D 

 

QUESTION 5

A customer is running a number of compute-intensive application workloads on their existing 4-node vSAN cluster that
has resulted in resource contention. To provide additional compute resources, the vSAN administrator has decided to
deploy a new 4-node vSAN compute-only cluster so that a HCI Mesh can be configured. 

Which three points would the vSAN administrator need to consider before using this configuration? (Choose three.) 

A. The storage policy must be based on the number of hosts within the client cluster. 

B. The storage policy is based on the total number of hosts across both client and server clusters. 

C. A storage policy of Erasure Coding with FTT=2 would be supported. 
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D. A storage policy of Mirroring with FTT 1 would be supported. 

E. A storage policy of Erasure Coding with FTT=1 would be supported. 

F. The storage policy must be based on the number of hosts within the server cluster. 

Correct Answer: DEF 
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